BTU-3502




Part List

Billiard Cabinet
1 Piece

Leg
16 Pieces

]

Leg Corner
16 Pieces

7

Leg Top Board

4 Pieces

#5

<>

Leg Bottom Board
4 Pieces

#6

=

Support Board
2 Pieces

N

#10

pr—

#11
Bm

Lower Side Apron Lower End Apron Apron Corner 4x25 mm Screw 4x40 mm Screw 6*25mm Bolt
2 Pieces 2 Pieces 4 Pieces 8 Pieces 32 Pieces 12 Pieces
#13 #14 #15 #16 #17 #18
N> Q000
(0000)

6*35mm Bolt 6*15mm Washer 8*35mm Bolt 8*19mm Washer 4x12 mm Screw 2-1/47?Billiard Ball
4 Pieces 16 Pieces 16 Pieces 16 Pieces 40 Pieces 1 Sets
#19 #20 #21 #22
Brush 577Cue 2-1/4?Triangle Chalk Allen Key
1 Piece 2 Pieces 1 Piece 2 Pieces 1 Piece










	页 1
	页 2
	页 3
	页 4

